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The betrothal of the first one is completed — PN SRR 1902

OVERVIEW

7411 27 maintains in the case of a 1717 N2 XM An5Y °¥n who was nw7p» and then
freed completely that the initial ¥17°P are now completed and if she received
TR from someone else it is not effective. N®OIN reconciles our XM} with a
seemingly contradictory Xna.

Mmoo anticipates a difficulty:
= POMY MY Y NNNA (vt 91 PYIPPT NNPP 7992 1999NT XM

And regarding this which 7117 "7 stated in the first P92 of PPwY7TSP NdoN; ‘a cow

which belonged to two partners -
- 193 XY AWTPA NY RN 91 D8N WITDNY NNDPYY 9N A8N WI1PN

One partner was w>7pn his half and then went and bought the other half from
his partner, and was w>tp» the second half, etc.’ the rule is that it is w7p (to a
degree);” however if he was not w*7pn the second half after he bought it, the

initial half w77 is not completed and extended to the other half automatically, by merely
purchasing the other half, but he must be w>7pn it —

mooIn responds:
- 31’51!'\ NN YUIPN D97 D8N 11 AYINY TVINT 0NN 2INY

There by a fnn2 it is different, for it is possible that she should graze, and half

her money will be w7p:7 and half will be 1297 -
- YN O8N KXY “2905 NUN WIN NP 997 NVNPN N8N NNNY IVON INT XN YaN

However here where it is impossible that only half of her should be nwTypn, for

the 77910 writes WK @SN 172° 92, but not a WK 937, so the current status cannot remain;

therefore -
= 9P IN 19) IN 99917 9aN0ON

It is logical to say that either the 7"217°? are completed or they are uprooted —

! Why is there this difference that here we say that initially she was halfway nwpn (since she is still a 7now *%n),
and when she is freed the Pw17°p extends automatically to her second half, without any additional action; however
there by the 1n72 when he bought the second half and it no longer belongs to his partner (rather it belongs to him)
we do not say that the mw17p of the first half extends automatically to the second half, but rather he is required to
make a new WIps.

%1t cannot be brought as a j27p (since initially when he was w>7pn half, it was not fit to be brought as a 127p).

 When he bought the second half; we can say half the animal is w7pi1 and the other half is 7"21; we will let it graze
(until it receives a o) and sell it so that half the money is w7pi1 and the other half he gets to keep for himself. If he
is not w>7pn the second half we have an option of how to deal with this 72.

4 X,73 (X¥N) oM.
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mooIn anticipates a difficulty:
- SN s8N YIPNY 2171 0NNT 2N HY 9N)

And even though the X773 there in 7PY17°p 'on compared the case of one who was
w71 half a 7nn2 to one who is w7p» half a woman —

mooIn responds:
- 119193 YUY XY NINN NPT XIINT XINT 99Y INMNT 191 NYH RY

There is no difficulty at all; for there he brings a proper proof from vxn v>7pn
that wherever there is ‘another mind’ the U 7°p/w7pn does not extend to the
whole’ -

Mmoo offers a alternate answer to the first question:®
- 95'18? 1399372 YUY POV 2V JY N1NNAT 91099D NIIN 123 ON

Or it is also possible to say that by a n»73 of two partners, where he left

something remaining in his acquiring of this animal for wp: -
- %9123 XY 19295 *w1pn N3 NNYN NNNA SINY

For the entire animal was capable of becoming w7p:1, therefore since there was

this 71w, the w7pPn does not become complete, even when he bought his partner’s share -
:PWITD Y993 NN RY anaw NN oA YaN

> See following footnote # 6. Moo just finished saying that we cannot compare being w>Tpn half a 7na (since we
can divide the value of the nnn2 into two parts; one w7pi and the other 1°211) to being w7pn a woman (who cannot be
half nwmpn), so why does the X711 there compare TwR “w17°p to 72 wpn?! See ‘Thinking it over’.

6 X3 there ruled that if a man said to a woman nwTIPn 7%, she is not Nwmpn. The X3 asked, but why do we not
say that the w1 7P expands to the other half, just like if one is w>7p»n half a 772 we say the entire 7172 becomes
v because the nw1Tp of the first half expands into the second half. The X nx answered that the two cases are
different, by an nwX since she has a mind of her own (n7nX nN¥7) and since she agreed that merely half of her is
nwTpn, we cannot expand it to her other half against her wishes. The X713 then goes on to say that the case of 7™xn
"% nWwTpn is similar to the case of 1 "1 that if there are two partners, when one is w>7pn his half, the 7w cannot
extend to the other half which belongs to his partner, since there is a nInX ny7 which prevents the 7w17P from
expanding (even if he later purchased the other half, unless he is w*7pn the second half).

" The comparison was only in regard that the Pw17Tp of a 7wX >¥n cannot extend to the other half, just as the wpn of
one partner cannot extend to the domain of the other partner; in both cases there is a nInX n¥7 which prevents the
muwoni of the Pw1Tp/wTpn. However here we are discussing the status of the 1w17°p after she was completely freed,
in this regard we cannot compare it to the 772 of two partners, since there it is conceivable that the animal be part
w7pn and part P20 (moneywise); however a woman cannot be half nw7ip» and half not nwmpn.

¥ See footnote # 2.

? The xma stated previously when one is TwP2 9»wn (or w7pm); meaning he is not wp» the total amount of which
he is capable of being w7pn, the ensuing Pw17p is lacking.

' This nmma was (theoretically) capable of being »3% wipii (if both partners would agree), therefore when one
partner was w>7pn only half, it is a weaker wpn since he was 7w the other half, such a weak w7pi cannot be
completed even after this partner owns the other half, for the w7pn was lacking initially.

" Here by the n"amwn he was w7pn all that is possible to be w7pn (there is no 7w for the Mndw 7X); he was not
w in the PW17P, therefore when she becomes completely free the strong 1w17p (without 71°%) can expand to the
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However here the half nnsw part was never included in the concept of Pw7T5p,
therefore it is possible that when she was completely freed, the 1"¢17°p expands and becomes
complete.

SUMMARY

The difference between n"amwn (where the v P may expand) and '2 5w fnn2
oMW (where it does not) is that a 72772 can be both half w17 and half 1711, but a
woman cannot be half nwTpn, or by a 772 he was 7w, but not by the n"amwrn.

THINKING IT OVER
Is the question (and answer) of TwX *¥n% 21 A"YXY' on the first answer of MoOIN
only,"? or is it on the 1"X as well?

new N7’ 7% and complete the Pw7p.
12 See footnote # 5.
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